30460

z
9
Amount

Hook, double, 30460
Hook

Washer M8 D16

Screw M8X50

Nut M8

Screw M5X35

Nut M5 locking

End plug plastic 30X20
Rubber packing

© N oA W N —
o
w
o
=
o
o

0

Metal ring
Screw MéX25
Pre-assembly plate
Nut M6

Knob WN 315

N — o

NNINN = = NN W N
*

w

235 - 370 mm

e —

9.3"- 14.5"

iy - T
[T Ti© (((e)) o) [ ==

TAWI

Box 10205 434 23 KUNGSBACKA Sweden
Tel +46 300 185 00

info@tawi.se

www.TAWIl.com




